

# Executive Summary Fayette County Public Schools Board Meeting Agenda Item

**MEETING: Planning** 

DATE: 8/8/2016

**TOPIC: McGraw Hill Education** 

PREPARED BY: Ronda Runyon

Recommended Action on: 8/8/2016

**Action Item for Vote (PLANNING MEETING)** 

Superintendent Prior Approval: No

Recommendation/Motion: A motion is in order to approve the contract between McGraw Hill Education for Morton Middle School and Fayette County Public Schools

Background/Rationale: Board Policy 01.11 states that contracts with the district with an expenditure amount above \$20,000.00 must be approved by a vote of the Board. This month District staff would like to enter into a contract with McGraw Hill Education.

Policy: Board Policy 01.11

Fiscal Impact: \$22,820.97

**Attachments(s):** Click here to enter text.

#### AN EQUAL OPPORTUNITY SCHOOL DISTRICT



## Decause learning changes everything.

### QUOTE PREPARED FOR:

SUBSCRIPTION/DIGITAL CONTACT:

Morton Middle School 1225 TATES CREEK ROAD LEXINGTON, KY 40502 ACCOUNT NUMBER: 288093

### CONTACT:

Lisa Owens

liss.owens@fayette.kyschools.us

### **SALES REP INFORMATION:**

Steve Hahn

steve.hahn@mheducation.com

Section Summary		Value of All		
Section Summary		Materials :	Free Materials	Product Subtotal
GLENCOE MATH 2015 - COURSE 1		\$15,392.16	(\$8,399,16)	\$6,993.00
GLENCOE MATH 2015 - COURSE 2		\$15,392.16	(\$8,399.16)	\$6,993.00
GLENCOE MATH - ACCELERATED		\$12,810.42	(\$5,949.54)	\$6,860.88
	PRODUCT TOTAL*	\$49,594.74	(\$22,747.86)	\$20,846.88
	ESTIMATED S&H**			\$1,974.09
	ESTIMATED TAX**			TBD
	GRAND TOTAL*			\$22,820.97

<sup>\*</sup> Price firm for 30 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

Comments:	

### PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | Email: orders\_mhe@mheducation.com | Phone: | Fax:

QUOTE DATE: QUOTE NUMBER: 7/28/2016

SHAHN-07282016-001

ACCOUNT NAME: Morton Middle School

ACCOUNT #: 288093

EXPIRATION DATE:

08/27/2016

PAGE #:

.

<sup>\*\*</sup>Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total, if applicable, actual tax charges will be applied at time of order.



# Because learning changes everything.

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
GLENGOE MATH 2015 COURSE1	· · · · · · · · · · · · · · · · · · ·		1.2		<b>1</b>
GLENCOE MATH COURSE 1 VOLUME 1 STUDENT EDITION	978-0-07-669100-5	350	\$9.99	\$0.00	\$3,496.50
GLENCOE MATH COURSE 1 VOLUME 2 STUDENT EDITION	978-0-07-670930-4	350	\$9.99	\$0.00	\$3,496.50
GLENCOE MATH COURSE 1 VOLUME 1 STUDENT EDITION	978-0-07-669100-5	350	\$9.99	\$3,496,50	*Free Materials
GLENCOE MATH COURSE 1 VOLUME 2 STUDENT EDITION	978-0-07-670930-4	350	\$9.99	\$3,496.50	*Free Materials
GLENCOE MATH COURSE 1 VOLUME 1 TEACHER EDITION	978-0-02-138108-1	6	541.19	\$247.14	*Free Meterials
GLENCOE MATH COURSE 1 VOLUME 2 TEACHER EDITION	978-0-07-670288-6	6	\$41.19	\$247.14	*Free Materials
GLENCOE MATH COURSE 1 COMMON CORE PRACTICE MASTERS	978-0-07-678290-1	6	\$75.99	\$455.94	*Free Materials
GLENCOE MATH COURSE 1 ASSESSMENT MASTERS	978-0-07-662327-3	6	\$75.99	\$455.94	*Free Materials
	GLENCOE MATH 2	015 - COUR	SE 1 Subtotal:	\$8,399.16	\$6,993.00
GLENCOE MATH 2015 COURSE 2					
GLENCOE MATH COURSE 2 VOLUME 1 STUDENT EDITION	978-0-02-144789-3	350	\$9.99	\$0.00	\$3,496.50
GLENCOE MATH COURSE 2 VOLUME 2 STUDENT EDITION	978-0-02-130152-2	350	\$9.99	. \$0.00	\$3,496.50
GLENCOE MATH COURSE 2 VOLUME 1 STUDENT EDITION	978-0-02-144789-3	350	\$9.99	\$3,496.50	*Free Materials
GLENCOE MATH COURSE 2 VOLUME 2 STUDENT EDITION	978-0-02-130152-2	350	\$9.99	\$3,496.50	*Free Materials
GLENCOE MATH COURSE 2 VOLUME 1 TEACHER EDITION	978-0-02-138984-1	6	\$41.19	\$247.14	*Free Materials
GLENCOE MATH COURSE 2 VOLUME 2 TEACHER EDITION	978-0-07-678687-9	В	\$41.19	\$247.14	*Free Materials
GLENCOE MATH COURSE 2 COMMON CORE PRACTICE MASTERS	978-0-02-143395-7	- 6	\$75,99	\$455.94	*Free Materials
GLENCOE MATH COURSE 2 ASSESSMENT MASTERS	978-0-07-662328-0	6	\$75.99	\$455.94	*Free Materials
	GLENCOE MATH 20	15 - COUR	SE 2 Subtotal:	\$8,399.16	\$6,993.00
GLENGOE MATHLAGGELERATED		<b>金维</b>	17.5		
GLENCOE MATH ACCELERATED STUDENT EDITION	978-0-07-663798-0	104	\$65,97	\$0,00	\$6,860.88
GLENCOE MATH ACCELERATED STUDENT EDITION	978-0-07-663798-0	76	\$65.97	\$5,013.72	*Free Materials
GLENCOE MATH ACCELERATED TEACHER EDITION VOLUME 1	978-0-07-664447-6	6	\$39.99	\$239.94	*Free Materials
GLENCOE MATH ACCELERATED TEACHER EDITION VOLUME 2	978-0-07-864461-2	8	\$39.99	\$239.94	*Free Materials
GLENCOE MATH ACCELERATED ASSESSMENT MASTERS	978-0-07-664446-9	6	\$75.99	\$455.94	*Free Materials
	GLENCOE MATH -	ACCELERA	TED Subtotal:	\$8,949.54	\$6,860.88

### PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education |

Email: orders\_mhe@mheducation.com | Phone: | Fax:

QUOTE DATE: QUOTE NUMBER: 7/28/2016

\$HAHN-07282016-001

ACCOUNT NAME: Morton Middle School

ACCOUNT #: 288093

EXPIRATION DATE: 08/27/2016

PAGE #:



### Because learning changes everything.

### QUOTE PREPARED FOR:

Morton Middle School 1225 TATES CREEK ROAD LEXINGTON, KY 40502 ACCOUNT NUMBER: 288093

### CONTACT:

Lisa Owens

lisa.owens@fayette.kyschools.us

VALUE OF ALL MATERIALS	\$43,594,74
FREE MATERIALS	(\$22,747.86
PRODUCT TOTAL*	\$20,846.88
ESTIMATED SHIPPING & HANDLING**	\$1,974.09
ESTIMATED TAX**	TBE
GRAND TOTAL	\$22,820.97

### SUBSCRIPTION/DIGITAL CONTACT:

Comments:
* Price firm for 30 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.
**Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.
Terms of Service;
By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service Subject to Subscriber's payment of the fees set out above. McGraw-Hill School Education, LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in
the <u>Terms of Service</u> . The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.
School Purchase Order Number: 310211088-00
School Purchase Order Number: 310211018-00
Parad W
LUTIAC K KUNGON
Name of School Official (Pigage Print)

SEND ORDER TO:

McGraw-Hill Education |
Email: orders\_mhe@mheducation.com | Phone: | Fax:

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

QUOTE DATE: QUOTE NUMBER:

7/28/2016

SHAHN-07282016-001

ACCOUNT NAME: Morton Middle School

ACCOUNT #: 288093

EXPIRATION DATE:

08/27/2016

PAGE #:

3